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o A 154.77  + 6517 + 3034 + 128 + 46.20 — 78.66 = 219.10 220.00 m3
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XREALER 271.86 / 10.00 (10m2¥%7-01A4) = 2719 27.00 &
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SR U 219.10 = 219.10 220.00 m3
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SAET. 271.86 X 1,000 / 1,000 = 271.86 272.00 m2
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WCRPHE T L3270} 200X 200 271.86 X 1,438.1 / 1,000 = 390.96 391.00 m
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AR 22— MG 271.86 X 11.40 /1,000 = 3.10 3.00 m3
[X1i4/6 L0 [i#i5/6 10
% LAt T JE2em 271.86 X 598.25 / 1,000 = 162.64 163.00 m2
i TARAE250~500m2 A
Haggt 0.20 X 0.20 X 390.96 X 420.00 ke/m3fEE) X 3.00 % = 197.04 197.00 kg
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SR TG TR0 152 A X 1.00 X 156 (m/ kg) / 1000 = 0.237 0.237 t
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Bk —hakE = 34.00 m
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BEFR 69.49 X 260.00 (kg/m3HEE) X 3.00 % = 542.02 542.00 kg
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WU 1A (42 THDRR 231.68 = 231.68 232.00 m2
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(Rt — iR 475.22 = 475.22 475.00 m2
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L I B = I = N YA - L I I = = N R YA - A S I AR - S

1 +19.97 0. 00 0. 00 0. 00

2 + 6.23 6. 26 9. 20 4. 60 28. 80 0. 70 0.35 2.19 0. 90 0. 45 2. 82

2 +9.43 3. 20 9. 20 9. 20 29. 44 6. 40 3.55 11.36 1.50 1.20 3.84

2 +12.74 3.31 6. 80 8. 00 26. 48 6. 60 6. 50 21.52 0. 30 0. 90 2.98

2 +17.92 5.18 12. 90 9. 85 51. 02 3. 20 4. 90 25. 38 4. 90 2. 60 13. 47

3+ 0.87 2.95 0. 00 6. 45 19. 03 0. 00 1. 60 4.72 0. 00 2. 45 7.23

20. 90 154. 77 65. 17 30. 34
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o B Btk K # EOl B M R Eo2 M B B 5 L Dol

B P v & | W om [P v m | W om [P v f
No. 1 +19.97
No. 2 + 6.23 6. 26 0. 00 1.70 1. 60
No. 2 +9.43 3. 20 0. 00 6. 90 4.30 13.76 7. 50 4.55 14. 56
No. 2 +12.74 3.31 0. 30 0.15 0. 50 3. 00 4.95 16. 38 7. 60 7.55 24. 99
No. 2 +17.92 5. 18 0. 00 0. 15 0. 78 3. 20 3. 10 16. 06 7. 50 7. 55 39. 11
No. 3 + 0.87
3 17.95 1. 28 46. 20 78. 66
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il BB Co # B L D02 @J + ¥ m % ¥ Nl
R = N M AR - S R - S - 1 O I A
No. 1 +19.97 0.00
No. 2 + 6.23 6. 26 0.50 15. 50 7.75 48. 52
No. 2 + 9.43 3. 20 2.40 1. 45 4. 64 15. 90 15.70 50. 24
No. 2 +12.74 3.31 0.90 1. 65 5.46 16. 70 16. 30 53.95
No. 2 +17.92 5. 18 0.90 0.90 4. 66 11. 60 14. 15 73. 30
No. 3 + 0.87 2.95 0.00 5. 80 17.11
g 20. 90 14. 76 243. 12




L = M & ¥ + T 5 ®B %

il B R B - (F % /) BOl #%z [ il LO1 %{Hj L B 1k v — bk L0l

L I B = I = N YA - g B ARSI A = Y OfE | R

No. 0 + 0.00 3. 30 3. 00 4. 00
EC1 No. 0 +11.00 11. 00 5.10 4. 20 46. 20 3. 00 3. 00 33. 00 4. 00 4. 00 44. 00
BC2 No. 0 +17.63 6.63 2. 60 3.85 25. 53 3. 00 3. 00 19. 89 4. 00 4. 00 26. 52
SP2 No. 1 + 6.46 8.83 0. 60 1. 60 14.13 3. 00 3. 00 26. 49 4. 00 4. 00 35. 32
EC2 No. 1 +15.29 8. 83 3. 50 2. 05 18. 10 3. 00 3. 00 26. 49 4. 00 4. 00 35. 32
No. 2 + 6.23 10. 94 5. 50 4. 50 49. 23 3. 00 3. 00 32.82 4. 00 4. 00 43.76
No. 2 +9.43 3. 20 3. 50 4. 50 14. 40 3. 00 3. 00 9. 60 4. 00 4. 00 12. 80
No. 2 +12.74 3.31 5. 80 4. 65 15. 39 3. 00 3. 00 9.93 4. 00 4. 00 13.24
No. 2 +17.92 5.18 4. 60 5. 20 26. 94 3. 00 3. 00 15. 54 4. 00 4. 00 20. 72

i 57.92 209. 92 173. 76 231. 68




T~ = B # ¥ & L i ®H *
K

3 R . B — Lo2
R T A
No. 0 + 0.00 8. 60

EC1 No. 0 +11.00 11. 00 9.10 8. 85 97. 35
BC2 No. 0 +17.63 6. 63 7. 60 8. 35 55. 36
SP2 No. 1 + 6.46 8.83 6. 80 7. 20 63. 58
EC2 No. 1 +15.29 8. 83 8.10 7.45 65. 78
No. 2 + 6.23 10. 94 9. 60 8. 85 96. 82
No. 2 + 9.43 3. 20 7.10 8. 35 26. 72
No. 2 +12.74 3. 31 8. 20 7.65 25.32
No. 2 +17.92 5. 18 8. 90 8. 55 44. 29

= 57.92 475,22




